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Question 1.Select the related word/letters/number from the given alternatives.

T3 T fashodl H @ HelfeereT Yec) 37&RT/TEdm 1 giav|
Bacteria : Microscope :: Moon : ?

SO : EHeRl : TeeH : ?
Options:

1) Night

af¥

2) Earth

g

3) Satellite

[T

4) Telescope

et o

Correct Answer: Telescope
[AEICES

Candidate Answer: [ NOT ANSWERED ]

Question 2.Select the related word/letters/number from the given alternatives.

3 T fashodl / & Helfeeret Yec) 37&RY/HEdr 1 giav|

LNPR :TVXZ : NPRT : ?

Options:
1) FHIL

2) FUH
3) HFU

4) JLHF
Correct Answer: FHIL
Candidate Answer: FHIL

Question 3.Select the related word/letters/number from the given alternatives.

2 13 faeodl & @ Hafeere ereey starl/dear # gfav|
27 :125:64:7

Options:

1) 517

2) 162

3) 216

4) 273
Correct Answer: 216
Candidate Answer: 216

Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

30 g & U aTw fachedt & & fawa ereey 31/ aEar I AT ?
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Options:
1) Novel
3Yeqrd
2) Paper
h1aTel

3) Pencil
afewa
4) Pen
held

Correct Answer: Novel
391

Candidate Answer: Novel
391

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

30 g U aTw fachedt & & fawa ereey) 31aR/aEar I AT ?

Options:
1) acDD

2) egHH
3) ikLL

4) QSTt
Correct Answer: QSTt
Candidate Answer: QSTt

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

30 T & U 1T faehodt & & fave ereey 31617/ FEaT ZITH T ?

Options:
1) 65 - 90

2)73-97
3) 112 - 137

4) 162 - 187
Correct Answer: 73 - 97
Candidate Answer: 162 - 187

Question 7.Arrange the following words as per order in the dictionary

TAFATATET 2sel T ereeehiel & feT 1T A & TR @ ?
a. Guarantee b. Group c. Grotesque d. Guard e. Groan
Options:

1)a,c e b, d

2)b,e a,d,c
3)b,c e a,d

4)e,c b,a,d
Correct Answer: e, c, b, a, d
Candidate Answer: e, ¢, b, a, d

Question 8.Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?

&R T it T THE Trel TATAT I FAIR T § &Y 778 &R ATl QU FATE ?

Xy_kx_zk_yzk xyz_ _



Options:
1) zyxkx

2) zykxz
3) zkxyk

4) zxykx
Correct Answer: zyxkx
Candidate Answer: zyxkx

Question 9.Find the missing number in the series:

& T ATl H ol FEAT +AT HIfIw ?
219, 211, 204, 198, ?, 189

Options:

1) 189

2) 192

3) 193

4) 196
Correct Answer: 193
Candidate Answer: 193

Question 10.If M is the sister of Z , Z is the wife of P and P is the son of A, how Z relates to A?

IRM, ZH eI g R Z, PHAI Il &1 P, AFTSCT &, AT ZHT A T FIT GFa=eT § ?
Options:

1) Daughter-in-law

ITag

2) Daughter

Egl

3) Wife

il

4) Mother

HATAT

Correct Answer: Daughter-in-law
Ty

Candidate Answer: Daughter-in-law
ag

Question 11.The sum of ages of 4 children born at intervals of 4 years each is 60. What is the age of the youngest child?

4 Sl T 3 H1 AT 60 AY § 3R 3775 sl H 4 -4 T &1 3w} ¢ | FIY BIE T T 31Y AR ?

Options:
1)7

2)9
3)10

4)12
Correct Answer: 9
Candidate Answer: 12

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

fAFTTREd fashedl 7 & 98 Wree AT ST QU 1T 2fee; & &R T FNT ek oAET TATIT S Fehe :
ENVIRONMENT

Options:

1) OINTMENT

2) MENTOR

3) VENOM

4) TRIM
Correct Answer: OINTMENT
Candidate Answer: VENOM

Question 13.In a certain code CAMEL is written as MFNBD. How shall TIGER be written in that code?

3R CAMEL &I MFNBD for@T ST @hdT & @Y TIGER &1 38 $is & 39 forar sRyer ?



Options:
1) SFUJH

2) SFHIU
3) SFIUH

4) SHFIU
Correct Answer: SFHJU
Candidate Answer: SFHIU

Question 14.If x stands for - , + means x , + means + and - means + , then what is the value of the given expression?

IREXFIIT -, +FIT X, T F AT+ A -F3F - grar
175-25+5+2x3+10="?

Options:

1) 77

2) 160

3) 240

4) 2370
Correct Answer: 77
Candidate Answer: [ NOT ANSWERED ]

Question 15.I1f4 * 2 =3
and8*4 =3,
then21 *7 =2

IfE4*2=3
38 *4 =3,
ar21*7=2?
Options:
1)4

2)3

3)8

4) 16
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

Question 16.Select the missing numbers from the given alternatives

2y a1 et 3 @ e He g
17 11 15
12 13 16
25 4 ?

Options:

1)9

2) 16

3)25

4) 36

Correct Answer: 9
Candidate Answer: 9

Question 17.A man walks 5 kilometre towards South and then turns to the right. After walking 3 kilometre, he turns to the left and walks 5 kilometre. Now in which
direction is he from the starting point?

T et 5 farcliefiet afator 1 3R ST § | R afeet gt 3 freitetie =reraT €1 36 I gae 5 fheliefiet wofaT §1 319 I TRiEs fog @ fonw feer a1 22
Options:

1) West

gf¥gs

2) South

gfaor

3) North-East

Se-qd

4) South-West

gRao-geafs



Correct Answer: South-West
efgur-ueatas

Candidate Answer: West
gfegs

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: Life means stresses and strains.

Stresses and strains have an adverse effect on life.

Conclusions: I. Life is not worth living.

I1. One should avoid stresses and strains in life.

Ffafla uea 7 v a7 &) geraey QY 912 §, 5k 3maY & fAsed/Agang, 1 31 11 fAehrer a2 §) 3maert R = § 7 gorded Ocd § IR 98 9o ad a2t &
et gl AT 811 3MIe! v et & FoF foT 310 aeraca # & #a-a1 fAfRad &7 & 9 fses/aAegar faerer s @warg ?
YT ShaeT &l Helold gl 3R TTd g &ard 3R =1 Sl 9X Flciehel F8a Sierd ¢ |

TSRy : . SfiaeT St I A18T &1 1.5 & delid 3R &91a ¥ 99T anev |

Options:

1) Only conclusion I follows

Fae [ sy agr g

2) Only conclusion II follows

ool 11 vy T 8|

3) Both conclusion I and conclusion II follow

1 3R 11 gt s wér €

4) Neither conclusion I nor conclusion II follows

arari v A & 11 oo | g

Correct Answer: Only conclusion II follows

Fad I ey @il

Candidate Answer: Only conclusion II follows

Fad 11 Ty TEr |

Question 19.How many triangles are there in this geometric figure?

o % e Faager 8 2

Options:
1) 12

2) 16
3) 18

4) 20
Correct Answer: 18
Candidate Answer: 12

Question 20.Which of the answer figures best indicates the relationship between:
Doctors, Nurses, Hospital

Fet a1 T AeAff@d Ty o g cRiiar g ?
SiFeX , TR, 3T



Options:
1)

2)

:

Correct Answer:

Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

5 YT & it A Sk R TT TpicT & TS T G FIAT & ?

(TN O




Options:

1) :
|
1
R
I
i
2)
I o3,
BAVE)
]
3)
Lt
]
4)
=]
"
Correct Answer:
SRy
B
]

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& 718 Zea¥ IHiaAt 7 A 30 IAT T wee srpfa e g1




Options:

4)
Correct Answer:

2

Candidate Answer: [ NOT ANSWERED ]

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

oA R R & 3THR TSt 1 AlSH Hieel TN Wikt & JT6 a6 fohdl Sead AT sk fears & ?

i—-r"'!\

TN




Options:
1)

—A

l\lc & | o c“}
o
"“-____.-’

2)
=
[ N
(ARAEL
\ /
N |
il
3)
3 9.l
) -»e-go- 0
N Y
|
4)

T-\.H;/

Correct Answer
I
AR IR
’( ol ol2lo \
o |o }
= |

Candidate Answer:

-
(

—

e

ey

\
N

1 |

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

3 99T ¥ AT TS G907 T MN @1 TR @7 TR aT & 918 Seai It 37 & Hler-3r Jmenfet gt it a1 wgr wfafas= gefr 2

—o1

AR WY,




Options:

1) |
J L\
l
2) |
ic —
W
3) B
NCCIT
AU
4)
2D N
Correct Answer:
-C\_ v-
LD I[N
Candidate Answer:
NCCIT
LA

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'G' can be represented by 01 and 'P' can be
represented by 10, 44, etc. Similarly you have to identify the set for the word 'BARK'

AT weet # faswedt 3 T aTv Fear-wg, 38T & & 391t g T 37T §, St fon oy few a1w aF smegg! # §1 3megp [ & T iR dfeq raear 0 w4 a& &
1S €, 3T 3Tegg 11 & 5 8 9 deh, 3T YR & Ueh 31T 1 Tgel 3Heh! Uiercl I T, H Tla HEIT ST ST ST FehelT &1 381601 o foIT,G ot 01 317e; ear gefram s
TEAT § AT P FT 10,44, 37TTE GaRT SRIAT I T &1 S AE 3T 4T 206G 'BARK' & T Fagg 1 agarmetatr &1

o |1 |z |3 [a & |7 |8 |9
o |k |6 |E |a |s ||5 & [0 |u |w |n
1 |p |v |H R |¥ |[& |¥ |& |8 [T |v |
2 IN Ju N [R [k |[7 Jo [t v (e |a
3 W s jB (5] 3 é_-if_d_‘_-f I -E_
a [t Ju la [ [p |[a [e [T [x [w][r




Options:
1) 32, 55, 69, 24

2) 32, 03, 66, 57
3) 67, 42, 66, 00

4) 23, 30, 66, 97
Correct Answer: 67, 42, 66, 00
Candidate Answer: 23, 30, 66, 97

Question 26.What is the maximum number of days of employment a rural poor would get under 'MGNREGA'?

FAXIT ( MGNREGA ) 3 3ecieTdl et ImeiioT feiet saiebd st 31fehad fohclel 3T deh AST9IR el TehdT & ?
Options:

1) 180 days

180 f&=1

2) 120 days

120 f&at

3) 100 days

100 f&=t

4) 90 days

90 &=t

Correct Answer: 100 days
100 T

Candidate Answer: 100 days
100 f&=t

Question 27.Scheduled bank is a bank which is ...

R o Tk T AR A ...

Options:

1) Nationalised

TSGR 8

2) Not Nationalised

TSERH o &

3) Based in foreign Country

@Y & 3 TR Y

4) Included in the second schedule of RBI

AN Rerd 3 1 q@dr 3regeE & anfdrer gt

Correct Answer: Included in the second schedule of RBI
SReRT RRord de o o SR #F enfaver g

Candidate Answer: Included in the second schedule of RBI
SReRr ot de o o ST # enfaver gf

Question 28.Black soil is also known by which of the following name ?

el ALY 3R fond 1A § Sl STt § ?
Options:

1) Khadar Soil

e g

2) Bangar Soil

S fAgY

3) Alluivial Solil

FORT THET

4) Regur soil

wR

Correct Answer: Regur soil
T e

Candidate Answer: Bangar Soil

IR A
Question 29.What is the name of the book written by Panini ?

IOl garT IR qEieh T T A § ?



Options:

1) Mahabhashya
FETST

2) Mitakshara

fAamER

3) Madhyamika Karika
AfeafAe FReEr

4) Ashtadhyayi
Jrserearit

Correct Answer: Ashtadhyayi
Jrseregrdt

Candidate Answer: [ NOT ANSWERED ]

Question 30.Which dynasty was started by Khizr Khan ?

&S @l o leT-3 T er T IR fomar a1?
Options:

1) The Sayyids

g

2) The Lodhis

et

3) The Rajputs

TG

4) The Khiljis

TEerstr

Correct Answer: The Sayyids
g

Candidate Answer: The Khiljis
&ttt

Options:

1) Anemometer
e

2) Barometer
SR

3) Hygrometer
RERIGIES

4) Thermometer

At

Correct Answer: Barometer

R

Candidate Answer: Barometer

N

Question 32.Gustation refers to the sense of which of the following ?

e ¥ 3 efa@a s afraag ?
Options:

1) Smell

ot

2) Hearing

e

3) Tactile

I

4) Taste

Eoeire

Correct Answer: Taste
ool

Candidate Answer: [ NOT ANSWERED ]

Question 33.Intensity of any wave is proportional to which of the following?

TRl T BT SeTerclT 38, Toe=ifofld & & forash sefara A gidr & ?



Options:

1) amplitude

3TaTH

2) Square of amplitude
3T ST F3T

3) Square root of amplitude
3T 7 FaTeger

4) Cube of amplitude
TATH T Tl

Correct Answer: Square of amplitude
3T HT 9T

Candidate Answer: [ NOT ANSWERED ]

Question 34.In the following list of devices which device is used in network layer?

I &1 efaf@a e 7 @ sicad o”R & T Hla-a1 ao7 vgad gl § ?
Options:

1) Repeaters

erraci (Rfiex)

2) Router

3T

3) Application Gateway
UfCerher ded

4) Switch

Raa

Correct Answer: Router
WX

Candidate Answer: Router

Question 35.NTPC is a Central Public Sector Enterprise in which sector?

TSI TE Foa T i &TF 36TH ¢ ol iiTai@d & ¥ fohd 819 & §Fafeyd & ?
Options:

1) Education

Rt

2) Health

Ty

3) Power

~o
4) Transport
gRagsT

Correct Answer: Power

e

Candidate Answer: Power

e

Question 36.Which State government has launched the Smart Village Programme, to improve public facilities in village?

e U THR o A & Frdsiferes glaemsit & gur o & 3227 § w1 Folst e &1 ¢ & 2
Options:

1) Maharashtra

HERTSG

2) Rajasthan

o)

3) Odisha

EEI

4) Gujarat

ISR

2
Correct Answer: Gujarat
ISNTT

S
Candidate Answer: Odisha
EER)

Question 37.Rodrigo "Digong" Duterte emerged winner in 2016 presidential elections of which country ?

oy 2T & gyt & 2016 & oA A AT 3T 5gge F S gTider 1 ?



Options:

1) Mexico
HiFar

2) The Philippines
sfaftea

3) Spain

o

4) Singapore
R

=l
Correct Answer: The Philippines

Candidate Answer: Spain

f=-c

Question 38.What is commonly known as 'white plague'?

'9dd ToldT' Y ITACR W fhd A1 A ST SAar & ?
Options:

1) Typhoid

TIHIES

(3T Te])

2) Malaria
Hoifkar

3) Tuberculosis
& T

4) Plague

T

Correct Answer: Tuberculosis
&7 T

Candidate Answer: Plague
CeldT

Question 39.What are gilt-edged securities?

s st € 2
Options:

1) Securities issued by the multinational companies.

2) Securities issued by the Government

PR IR SR Fieregferar

3) Securities issued by the private sector

Forhr & T STy s

4) Securities issued by the joint venture companies

Correct Answer: Securities issued by the Government

PN IR SR Fieregferan

Candidate Answer: Securities issued by the joint venture companies

Question 40.In whose consultation does the President convene and prorogue all sessions of Parliament ?

gufa fres WA & TG & @ 77 3o 3R wuffia T 82
Options:

1) The Speaker

egey

2) The Prime Minister

TEITT Fe Al

3) The Prime Minister and the leader of the opposition in Lok Sabha
JHTAHAT 3R AhasT # fael 987 & aAar

4) The Council of Ministers

EEIRITA T

Correct Answer: The Prime Minister

Tl HeAl

Candidate Answer: The Council of Ministers

N gRwE
Question 41.With which religion is Kaivalya associated?

"FIe' PlT-Y o A Tl § ?



Options:

1) Buddhism
g

2) Jainism
EC

3) Hinduism
f&eg

4) Sikhism
RTa

Correct Answer: Jainism

ST
Candidate Answer: Buddhism

ste

Question 42.Bauxite is used as raw material by which industry

TR 3EN9T SaRT 'SIeFAISS’ Thed ATl oh iR U SEHTST fhal ST § 2
Options:

1) Aluminium

N2ATIERE

2) Iron

T

3) Steel

T (FET)

4) Gold

AT

Correct Answer: Aluminium

T AT

2
Candidate Answer: Steel

el (3ET)

Question 43.The large collection of stars, dust and gas held together by gravitational attraction between components is known as

azﬁﬂ:aﬁawémapmm:qmﬁmmmgvm, el 3R 319 @Y T FEd § ?
Options:

1) Cluster

et

2) Atmosphere

ARG

3) Galaxy

FHegfepatT (3TRTRIFTM)

4) Sun Family

aRafar

Correct Answer: Galaxy
FHegfehatT (TR

Candidate Answer: Atmosphere
AIHUS S

)

Question 44.Thermal electricity is generated by using which of these ?

Arfaf@a & @ frgent yaer e S g der & S § ?
Options:

1) Coal only

hael HITel

2) Coal and Natural Gas only

e AR arpfae e

3) Coal, Natural Gas and Petroleum

e, Srhfae 3 3R o

4) None of these

EREEEIEET

Correct Answer: Coal, Natural Gas and Petroleum
I, Apicie 3 3R dgforgs

Candidate Answer: Coal, Natural Gas and Petroleum

e, Trhfceh 3 3R aeifergs

Question 45.When iron rusts, its weight .....

SIS g F ST9T 97 ST & A 3HFT TS .



Options:
1) decreases

gC ST g

2) increases

& SAATE

3) remains the same

T AT

4) first increases and then decreases
g T & 3R R gear ®
Correct Answer: increases
ST AT

Candidate Answer: increases
ELESIGINS

Question 46.The driest location on Earth is in which country?

el R HRY [ T FeA-d ST & 2
Options:

1) Kenya

ST

2) Chile

el

3) Congo

I

4) Libya

fofsar

Correct Answer: Chile

EEl

Candidate Answer: Chile

EEl

Question 47.Which leader of British Labour Party was recently elected the first Muslim Mayor of London?

fafeer ot art & it & AT Y gTel & & SeeeT T GUH HRETH AI AT I ?
Options:

1) Sadig Khan

wifes @t

2) Ataullah Khan

HA3coll @iel

3) Firdauz Zaidi

el S

4) Karim Shaikh

A AT

Correct Answer: Sadiq Khan
afes @

Candidate Answer: Sadiq Khan
e @

Question 48.Lady Ratan Tata Trophy' is related to which game?

LY T T ST fF T el T AT & ?
Options:

1) Basketball

Erercic

2) Hockey

grhr

3) Kho-Kho

gr-ar

4) Cricket

[Exoa

Correct Answer: Hockey

glehT

Candidate Answer: Basketball
Ereric

Question 49.Which instrument is used for measuring humidity of atmosphere?

ARGAUSH A HEAT AN & AT gl o &1 a1 gl 8 2



Options:

1) Barometer

AR

2) Anemometer

TATAIFART

3) Thermometer

e

4) Hygrometer

[HERILIES

Correct Answer: Hygrometer
[HERILIrE

Candidate Answer: Hygrometer

REDIEIRSY

Question 50.Pankaj Advani is associated with which sport?

GehoT 3TSATON 1 A1 fohel Wl & T8 ?
Options:

1) Billiards

[EICRES:]

2) Boxing

ClEz:ci

3) Cricket

fohehe

4) Badminton

SsfAresT

Correct Answer: Billiards

[EIGRES

Candidate Answer: Billiards

[EICRES

Question 51.Find the least number which must be subtracted from 18265 to make it a perfect square

TE TATH TEIT A1 HITAT AT 18265 F HeRy o7+ o) 3R 30 ot aef wemr ¢ |

Options:
1) 30

2) 38
3) 40

4) 45
Correct Answer: 40
Candidate Answer: 40

Question 52.A and B together can do a piece of work in 36 days, B and C together can do it in 24 days. A and C together can do it in 18 days. The three working
together can finish the work in

A 31 B [ oY &1 oY 36 T&eT & o Tehdt &, B 31K C Aot 38 24 AT & o Tahd §1 A 3R C fAea 39 18 ot & R Tl &1 et fAeleht &hreT Y Y 39 fhder
ot e ?

Options:

1) 8 days

8 et

2) 16 days

16 fe=t

3) 30 days

30 fe=t

4) 32 days

32 feat

Correct Answer: 16 days

16 fe1

Candidate Answer: 8 days

8 foet

Question 53.Two adjacent sides of a parallelogram are 21 cms and 20 cms. The diagonal joining the end points of these two sides is 29 cms. The area of the
parallelogram (in sg.cms) is

Tk FHICR TIG3ST I A et AT 21 A7 3 20 Falh. & 1 57 it ofomait & AR ot Shse arer faewot 29 A8 | FHia” Tgelst a1 aathel fhciatr (et .4L) glam ?



Options:
1) 240

2) 120
3) 210

4) 420
Correct Answer: 420
Candidate Answer: 210

Question 54.A dealer marks his goods 20% above cost price. He then allows some discount on it and makes a profit of 8%. The rate of discount is

T faIshdll 39eT HHTA TR SRT e & 20% 318 Hed e T §1 38 T a6 $ Ge 2T § 3R 8% T olIeT AT §| GT H T Y ?

Options:

1) 4%

2) 6%

3) 10%

4) 12%

Correct Answer: 10%

Candidate Answer: [ NOT ANSWERED ]

Question 55.Sum of two numbers is thrice their difference. Their ratio is

&) HETHT T DT IoFeh AT A AT &1 IoFehT IHqaTd FATE ?
Options:

1) 1:2

2)2:1

3)3:1

4)1:3
Correct Answer: 2:1
Candidate Answer: 2:1

Question 56.The average age of 36 students in a group is 14 years. When the teacher's age is included in it, the average increases by one. The teacher's age in years
is

36 BT & Uk Tag 1 A Y 14 a9 | ST 36 Faten A 31y it 7 & Sl § A AT e a1 ST &) fRaten i 3y fhe av § 2

Options:

1)31

2)51

3) 36

4) 50
Correct Answer: 51
Candidate Answer: 36

Question 57.A dishonest dealer professes to sell his goods at cost price but uses a weight of 875 gms for the kilogram weight. His gain in percentage is
T SSANT TAoheT AT T AT e TN S<iel T Gral T & ifehe] Teholl I dafel & SGel 3 875 ITH & dotel (ST ) HT SEAHIS T § | 3HHT A TTA2rT Fhetar gram
?

Options:
1) 17%
2)

142%
7

4) 14%
Correct Answer:

142%
7

Candidate Answer:

142%
7



Question 58.A's salary is 50% more than that of B. Then B's salary is less than that of A by

A FT 3T B & a7 ¥ 50% 3ifF§ A B FT AT A A P wa § ?

Options:
1) 50%
2)

33}%(3
3

4)
as’%
Correct Answer:
33%9%¢
3

Candidate Answer: 50%

Question 59.Speed of a boat along and against the current are 14 kms/hr and 8 kms/hr respectively. The speed of the current is

T fter T ATy URT & A 3R Sfver foRm # waer: 14 f.#/ger X 8 A /aver §1 ury iy aife frceh § 2
Options:

1) 11 kms/hr

11 R /ger

2) 6 kms/hr

6 foh. a0 /aer

3) 5.5 kms/hr

5.5 fon.#r./ger

4) 3 kms/hr

3 R /ger

Correct Answer: 3 kms/hr
3 fF.A/Eer

Candidate Answer: [ NOT ANSWERED ]

Question 60.If the simple interest on Rs. 1 for 1 month is 1 paisa, then the rate percent per annum will be

g Rs. 19X 1 #Ig T ATUROT sa7eT 1 U1 &, Y a1f¥es &X gfaerd fohd=Ir g1 ?

Options:
1) 10%

2) 8%
3) 12%

4) 6%
Correct Answer: 12%
Candidate Answer: 8%

Question 61.If a/b + b/a = 1, then the value of a3 + b3will be

afga/b + bja = 1, a@r a3 + b3 =T g ?

Options:
1)1

2)0
3)-1

4)2
Correct Answer: 0
Candidate Answer: 2

Question 62.If p = 99, then the value of p(p2+3p+3) will be

fE p = 99 AT p(p2+3p+3) I AT F4T gRI ?



Options:
1) 999999

2) 1000000
3) 1000001

4) 999998
Correct Answer: 999999
Candidate Answer: 1000000

Question 63.If a-b=1 and a3-b® = 61, then the value of ab will be

T a-b=1 31 a3-b3 = 61, AT ab &1 H T glaT ?

Options:
1) -20

2) 20
3) 30

4) 60
Correct Answer: 20
Candidate Answer: 20

Question 64.

x % a—h .
if TR 1= sy +EJthenXIs equal to

g 1= 420 G fradaeRe?
ath a—b ath

Options:

1) 2a-b

2) a+b
3)a-b

4) 2a+b
Correct Answer: a-b
Candidate Answer: [ NOT ANSWERED ]

Question 65.The point where the 3 medians of a triangle meet is called

34 ¥eg &1 777 Fgd § fore o ves Rgfs & i Afdae e 82
Options:

1) centroid

oo

2) Incentre

3idheg

3) Circumcentre

IR

4) orthocentre

EEET-y

Correct Answer: centroid
oo

Candidate Answer: centroid

oo

Question 66.A ABC a right angled triangle has 2B = 90° and AC is hypotenuse. D is its circumcentre and AB = 3 cms, BC = 4 cms. The value of BD is

A ABC & TFEIUIRT BT §, 89T 2B =90° 3 AC &0T 1 D 3w IRéws § 3R AB = 3 3%, BC = 4 A7 §, AT BD & A7 Fr § 2
Options:

1) 3cms

3.

2) 4 cms

477

3)2.5cms

2.5 3.4

4)5.5cms

5.5 3.

Correct Answer: 2.5 cms

2534



Candidate Answer: 2.5 cms

253

Question 67.A ABC is an equilateral triangle and D, E are midpoints of AB and BC respectively. Then the area of A ABC : the area of the trapezium ADEC is

A ABC U T#ATg 33(T & HIX D,E 5#R1: AB 31 BC & #e foig &1 A A ABC & &1l I Hoelrel ADEC & &1thel ST HeJdTe fohctT g1 ?

Options:
1)5:3

2) 4:1
3) 8:5

4) 4.3
Correct Answer: 4:3
Candidate Answer: 4:3

Question 68.
In an isosceles triangle ABC,AB = AC, XY||BC.If £A = 30° then £BXY =

Ueh §HG A8 T80T ABCH, AB = AC,XY||BC,UTG £A = 30° a1 £BXxY fohaaighan 7

Options:
1) 75°

2) 30°
3) 150°

4) 105°
Correct Answer: 105°
Candidate Answer: 75°

Question 69.

The value of sec®*17° — - —s5in17%sec?3%is

an? 73

sec*17° — — sin17°sec? 3° A=l #4157

tan? 73

Options:
1)1

2)0
3)-1

4)2
Correct Answer: 0
Candidate Answer: -1

Question 70.If x=aCosBCos®, y = aCosbSin® and z= aSing, then the value of x2+ y2 + z2 is

Ife x=aCosBCos®, y = aCosbSin® 3T z= aSind & al x2 + y2 + z2 & AT FATE ?

Options:
1) 2a2

2) 4a2
3) 9a2

4) a2
Correct Answer: a2
Candidate Answer: 2a2



Question 71.A 1.6 m tall observer is 45 meters away from a tower. The angle of elevation from his eye to the top of the tower is 30°, then the height of the tower in
meters is

(Take V3 = 1.732)

1.6 #T. T U a7 el <rax & 45 3. g &1 38T 3@ & AR & MY T Ieo1aet I 30° §| e ¥ Farg vt 3. g
(AT V3 = 1.732)

Options:
1) 25.98

2) 26.58
3) 27.58

4) 27.98
Correct Answer: 27.58
Candidate Answer: 27.98

Question 72.The following pie chart shows proportion of population of seven villages in 2009. Study the pie chart and answer the questions that follows :

FFATRGe qr-a 31 2009 3 AIet 3NTall T HTATET T HefeTeT ST ITAT & TE-E 1 HeFAT AT IR FFAfQfEe gt 1 e A

- e '."'I = \
F: \ b
& R, 0\ . £, \Village |% of population
A 1em Y 1% s |
S el \ o, Y Below Povertyline
[ s . 20 ' % 38
T ~\ 3 | ¥ 52
Ty . | Z 42
v N 16% R 51
\ T = / s 49
N ™ e N T 46
. P v 58

If the below poverty line population of the village 'X" is 12160, then the population of village 'S' is

I 31t 'X' P IR Y@ & A Y 3Ty 12160 ¥ A AT 'S' Y AT R g ?

Options:
1) 18500

2) 20500
3) 22000

4) 20000
Correct Answer: 22000
Candidate Answer: [ NOT ANSWERED ]

Question 73.The following pie chart shows proportion of population of seven villages in 2009. Study the pie chart and answer the questions that follows :

ﬁmﬁ@aq@-aﬁi‘rzow ¥ e MMt Y T T AT SRITAT 1T §1 IS-AE &7 eI P 3R AT gestt F7 3ea¥ S

> e '."'I = \
F: \ .
4 R\ ‘ A Village |% of population
P 16% 11% s N
A el \ o, Y Below Povertyline
l,J 5 R A S 1:% l'. X 38
11% ~\ 7 | ¥ 52
| i P o ] Z 12
% N 16% R 51
\ . L9 / s 49
L - X! T 25
“ P v 58

The ratio of the below poverty line population of village 'T" to that of the below poverty line population of village 'Z' is

it 'T' & e YT I A Y 3T qur gz 1 I 3T A Ay BT ITSTEN T T fhetetr & ?



Options:
1) 11:23

2) 13:11
3) 23:11

4) 11:13
Correct Answer: 23:11
Candidate Answer: [ NOT ANSWERED ]

Question 74.The following pie chart shows proportion of population of seven villages in 2009. Study the pie chart and answer the questions that follows :

forA TRl arg-=ne & 2009 # H1ct el i TS HT I ST IAT F| YR-TE HT HeTFeA AT IR el yeatt 1 e Qe

L) e
P k1 s
b R .". Z \’\-, = "
S aew ) 1 P Y \Village |% of pcrpulatmn.
/T \ i Y Below Pove rﬁllne
'l i, 1 \
AR S X 38
o 5
| % Y '| Y 52
, SR ] Z 42
- == X |
\ S 16% R 51
N T " Ry / S 49
R 21% /
. % T 46
g, A \ 58

If the population of the village 'R’ is 32000, then the below poverty line population of village "Y' is

e aifg 'R' <Y 3TaTEr 32000 &, oY 717e 'Y Fr el Y@ & S B ey e 2

Options:
1) 14100

2) 15600
3) 16500

4) 17000
Correct Answer: 15600
Candidate Answer: [ NOT ANSWERED ]

Question 75.The following pie chart shows proportion of population of seven villages in 2009. Study the pie chart and answer the questions that follows :

ﬁmﬁ@aw@-zﬁjgom ¥ | FMTaT T T T AT SRIAT AT &1 TIS-AIE T IFeAAT HfoTw 3R A fAfd Featt #7 3ea¥ ST

1 e,
;/, g "'l e \
s R .". Z \}" - -
AL 1ex v 11% . % Village |% of population
AN \ e \ Below Povertyline
s . 1 £ X 33
|
| ux S I ¥ 52
I iR . | Z 42
Y S 16% R £}
\ T = / s 49
k. 21% v N o T 46
e 10% S
N o v 58

In 2010, the population of 'Y' and 'V' increases by 10% each and the percentage of population below poverty line remains unchanged for all the villages. If in 2009,
the population of village Y was 30,000, then the below poverty line population of village 'V' in 2010 is

2010 "Y' 3R 'V 9IfaY T HTEET 10% 6 STl & 3R Tl aivay & a8 Y@ O D A 3nardy # ufdera saRafda war & afg 2009 #F aifa "Y' dr 3maréy 30000 &Y, @ 2010
# aire 'V' Fr IR @T F A 3ETey e §?

Options:
1) 11250

2) 12760
3) 13140

4) 13780
Correct Answer: 12760
Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

PALLID



Options:

1) FRIENDLY

2) PALE

3) WORTHLESS

4) COMFORTING
Correct Answer: PALE

Candidate Answer: WORTHLESS

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

INTANGIBLE

Options:

1) ETHEREAL

2) CONCRETE

3) INSUBSTANTIAL

4) ABSTRACT

Correct Answer: CONCRETE

Candidate Answer: CONCRETE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Pontifical

2) Pontiffical

3) Pontifecal

4) Pontificol

Correct Answer: Pontifical

Candidate Answer: Pontiffical

Question 79.1n the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I always enjoy (A)/ to read (B)/ books (C)/ No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Variety (A)/ is (B)/ spice of life (C)/ No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Neither of the scout leaders know (A)/ how to trap wild animals (B)/ or how to prepare them for mounting (C)/ No Error (D)
Options:

1) A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

We can see anything in the dim light.
Options:

1) badly

2) scarcely

3) fairly

4) rather

Correct Answer: scarcely

Candidate Answer: rather



Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Few countries can India in variety, colour and the richness of dance forms.
Options:

1) compare

2) rival

3) perform

4) prevail

Correct Answer: rival

Candidate Answer: rival

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The scheme allows students from different countries to communicate
Options:

1) each other

2) with each others

3) themselves

4) with one another

Correct Answer: with one another

Candidate Answer: themselves

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Straw in the wind

Options:

1) A light-weight object

2) A lucky charm

3) A game that kids play

4) An indication of what might happen

Correct Answer: An indication of what might happen

Candidate Answer: An indication of what might happen

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Face the music

Options:

1) Be applauded

2) Be ridiculed

3) Be punished

4) Be dismissed

Correct Answer: Be punished
Candidate Answer: Be ridiculed

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Curry favour

Options:

1) Seek impartial judgement

2) Seek favourable attention

3) Prepare a dish

4) Attract attention

Correct Answer: Seek favourable attention

Candidate Answer: Attract attention

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A brief or short stay at a place
Options:

1) Solitude

2) Soiree

3) Sojourn

4) Solistice

Correct Answer: Sojourn
Candidate Answer: Solistice

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

That which can be believed
Options:

1) Miraculous

2) Creditable

3) Credible

4) Gullible



Correct Answer: Credible
Candidate Answer: Miraculous

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who is indifferent to pain or pleasure
Options:

1) Eccentric

2) Philosopher

3) Fatalist

4) Stoic

Correct Answer: Stoic

Candidate Answer: Philosopher

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Knowing that the area was prone to earthquakes, all the buildings were reinforced with additional concrete.
Options:

1) On being prone to earthquakes,

2) Having been knowing that the area was prone to earthquakes,

3) Since the area was known to be prone to earthquakes,

4) No improvement

Correct Answer: Since the area was known to be prone to earthquakes,

Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

T will not buy some mangoes.
Options:

1) a little

2) much

3) any

4) No improvement

Correct Answer: any

Candidate Answer: No improvement

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He would surely assist me if I had requested him to do so.
Options:

1) would surely assisted me

2) would have surely assisted me

3) will have surely assisted me

4) No improvement

Correct Answer: would have surely assisted me
Candidate Answer: would have surely assisted me

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The alarming report of the plane crash left everyone in a state of shock.
Options:

1) alarmed report

2) alarmed reporting

3) reported alarm

4) No improvement

Correct Answer: No improvement

Candidate Answer: reported alarm

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

We were not the wiser after hearing the explanation
Options:

1) none

2) neither

3) nevertheless

4) No improvement

Correct Answer: none

Candidate Answer: [ NOT ANSWERED ]



Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Another marvel on the far side of the lake was a little farm that felt like a secret in the city. Some of the gaunt Karnataka labourers even looked away when children
came to dig and eat. But the greatest pleasure, this side of the lake, was the jamun tree. A few months back, Kalu and Sunil had a feast in the branches, shaking
down a few berries for Mirchi.

That's when they came to know the second-coolest thing about the jamun tree : There were parrots nesting in it. Since then, some other road boys had been
capturing the parrots one by one to sell at the Marol Market, but Sunil had brought Kalu around to the belief that the birds should be left as they were. Sunil listened
for their squawks each morning, to make sure they hadn't been abducted in the night.

Kalu's expertise was in the recycling bins inside airline catering compounds. Private waste collectors emptied these dumpsters on a regular basis, but Kalu had
mastered the trash truck's schedules. The night before pickup, Kalu would climb over the barbed-wire fences and raid the overflowing bins.

Kalu's routine had become known by the local police, however. He kept getting caught, until some constables proposed a different arrangement. Kalu could keep his
metal scrap if he'd pass on information he picked up on the road about local drug dealers.

What was the greatest pleasure this side of the lake?

Options:

1) A secret farm

2) The Jamun tree

3) Feasting on the branches of the Jamun tree

4) Labourers looking away when the children came to dig and eat

Correct Answer: The Jamun tree
Candidate Answer: Labourers looking away when the children came to dig and eat

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Another marvel on the far side of the lake was a little farm that felt like a secret in the city. Some of the gaunt Karnataka labourers even looked away when children
came to dig and eat. But the greatest pleasure, this side of the lake, was the jamun tree. A few months back, Kalu and Sunil had a feast in the branches, shaking
down a few berries for Mirchi.

That's when they came to know the second-coolest thing about the jamun tree : There were parrots nesting in it. Since then, some other road boys had been
capturing the parrots one by one to sell at the Marol Market, but Sunil had brought Kalu around to the belief that the birds should be left as they were. Sunil listened
for their squawks each morning, to make sure they hadn't been abducted in the night.

Kalu's expertise was in the recycling bins inside airline catering compounds. Private waste collectors emptied these dumpsters on a regular basis, but Kalu had
mastered the trash truck's schedules. The night before pickup, Kalu would climb over the barbed-wire fences and raid the overflowing bins.

Kalu's routine had become known by the local police, however. He kept getting caught, until some constables proposed a different arrangement. Kalu could keep his
metal scrap if he'd pass on information he picked up on the road about local drug dealers.

What was the second coolest thing about the Jamun tree?
Options:

1) Shaking down the berries for Mirchi

2) There were parrots nesting in the tree

3) Selling parrots in the Marol Market

4) Capturing parrots in the tree

Correct Answer: There were parrots nesting in the tree
Candidate Answer: There were parrots nesting in the tree

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Another marvel on the far side of the lake was a little farm that felt like a secret in the city. Some of the gaunt Karnataka labourers even looked away when children
came to dig and eat. But the greatest pleasure, this side of the lake, was the jamun tree. A few months back, Kalu and Sunil had a feast in the branches, shaking
down a few berries for Mirchi.

That's when they came to know the second-coolest thing about the jamun tree : There were parrots nesting in it. Since then, some other road boys had been
capturing the parrots one by one to sell at the Marol Market, but Sunil had brought Kalu around to the belief that the birds should be left as they were. Sunil listened
for their squawks each morning, to make sure they hadn't been abducted in the night.

Kalu's expertise was in the recycling bins inside airline catering compounds. Private waste collectors emptied these dumpsters on a regular basis, but Kalu had
mastered the trash truck's schedules. The night before pickup, Kalu would climb over the barbed-wire fences and raid the overflowing bins.

Kalu's routine had become known by the local police, however. He kept getting caught, until some constables proposed a different arrangement. Kalu could keep his
metal scrap if he'd pass on information he picked up on the road about local drug dealers.

What did Sunil think of parrots?

Options:

1) That they should be captured and sold.

2) That they had been abducted in the night.

3) That they should not be captured and sold.

4) That they squawked every morning.

Correct Answer: That they should not be captured and sold.

Candidate Answer: That they squawked every morning.



Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Another marvel on the far side of the lake was a little farm that felt like a secret in the city. Some of the gaunt Karnataka labourers even looked away when children
came to dig and eat. But the greatest pleasure, this side of the lake, was the jamun tree. A few months back, Kalu and Sunil had a feast in the branches, shaking
down a few berries for Mirchi.

That's when they came to know the second-coolest thing about the jamun tree : There were parrots nesting in it. Since then, some other road boys had been
capturing the parrots one by one to sell at the Marol Market, but Sunil had brought Kalu around to the belief that the birds should be left as they were. Sunil listened
for their squawks each morning, to make sure they hadn't been abducted in the night.

Kalu's expertise was in the recycling bins inside airline catering compounds. Private waste collectors emptied these dumpsters on a regular basis, but Kalu had
mastered the trash truck's schedules. The night before pickup, Kalu would climb over the barbed-wire fences and raid the overflowing bins.

Kalu's routine had become known by the local police, however. He kept getting caught, until some constables proposed a different arrangement. Kalu could keep his
metal scrap if he'd pass on information he picked up on the road about local drug dealers.

How did Kalu manage to raid the airline recycling bins before they were emptied?
Options:

1) He was an expert

2) He jumped over the barbed wire fences.

3) He had mastered the trash trucks schedules.

4) He worked at night

Correct Answer: He had mastered the trash trucks schedules.

Candidate Answer: He worked at night

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Another marvel on the far side of the lake was a little farm that felt like a secret in the city. Some of the gaunt Karnataka labourers even looked away when children
came to dig and eat. But the greatest pleasure, this side of the lake, was the jamun tree. A few months back, Kalu and Sunil had a feast in the branches, shaking
down a few berries for Mirchi.

That's when they came to know the second-coolest thing about the jamun tree : There were parrots nesting in it. Since then, some other road boys had been
capturing the parrots one by one to sell at the Marol Market, but Sunil had brought Kalu around to the belief that the birds should be left as they were. Sunil listened
for their squawks each morning, to make sure they hadn't been abducted in the night.

Kalu's expertise was in the recycling bins inside airline catering compounds. Private waste collectors emptied these dumpsters on a regular basis, but Kalu had
mastered the trash truck's schedules. The night before pickup, Kalu would climb over the barbed-wire fences and raid the overflowing bins.

Kalu's routine had become known by the local police, however. He kept getting caught, until some constables proposed a different arrangement. Kalu could keep his
metal scrap if he'd pass on information he picked up on the road about local drug dealers.

Why was a different arrangement proposed?

Options:

1) Because Kalu's routine was known by the police

2) So that Kalu would be able to keep his metal scrap.

3) So that Kalu could pass on information about local drug dealers
4) Because Kalu kept getting caught

Correct Answer: Because Kalu kept getting caught

Candidate Answer: So that Kalu would be able to keep his metal scrap.



